



Date Selected: 20/08/2018

Group(s): Teagasc Heavy Soils Programme

Farm	Cover Date	Farm Cover (kg DM/ha)	Cover/L U (kg DM/LU)	Stocking Rate (LU/ha)	Growth/ha (kg DM /ha/day)	Demand/ha (kg DM /ha/day)	Rotation Length Now(day s)	Grass Allocati on / LU (kg	Grass Intake/Co w (kg DM/cow)	Meal Intake (kg/cow)
Ballinagree	20/08/2018	693	304	2.28	55	33	21	14.5	14.5	4.5
Doonbeg	20/08/2018	856	263	3.26	91	54	19	16.7	17.0	2.8
Dtradone	18/08/2018	665	224	2.97	69	45	25	15.0	15.0	2.0
Lisselton	18/08/2018	816	247	3.30	103	48	20	14.5	14.5	2.5
Athea	20/08/2018	922	327	2.82	89	42	25	15.0	15.0	2.0
Castleisland	19/08/2018	839	301	2.79	67	39	25	14.0	14.0	4.0
Kiskeam	20/08/2018	935	328	2.85	68	43	24	15.0	15.0	3.0
Rossmore	16/08/2018	997	228	4.37	97	52	26	12.0	12.0	6.0
					•		•	•	•	
Average		840	278	2.92	80	42	23	14.3	13.0	3.0

Milk Summary:

Disclaimer This application should be used in conjunction with good husbandry practice and should be used only as a guide to grassland management. The use of this application does not effect any statutory requirements. Teaga





Date Selected: 20/08/2018

Group(s): Teagasc Heavy Soils Programme

Farm	Milk Date	Litres /Cow	Fat%	Protein%	Kg Milk /Cow
Doonbeg	19/08	21.6	4.34	3.65	1.78
Athea	18/08	19.08	4.39	3.59	1.57
Castleisland	19/08	23.35	4.07	3.54	1.83
Kiskeam	20/08	18.58	4.51	3.83	1.60
Rossmore	18/08	22.22	4.13	3.52	1.75
Average		21.00	4.23	3.60	1.71





Date Selected: 20/08/2018

Group(s): Teagasc Heavy Soils Programme

Milk Summary:

Farm	Cover Date	Milk Date	Litres /Cow	Fat%	Protein%	Kg Milk /Cow	scc
Doonbeg	20/08/2018	19/08	21.6	4.34	3.65	1.78	125
Athea	20/08/2018	18/08	19.08	4.39	3.59	1.57	95
Castleisland	19/08/2018	19/08	23.35	4.07	3.54	1.83	
Kiskeam	20/08/2018	20/08	18.58	4.51	3.83	1.60	
Rossmore	16/08/2018	18/08	22.22	4.13	3.52	1.75	93
Average		·	21	4.23	3.6	1.71	104







Date Selected: 20/08/2018

Group(s): Teagasc Heavy Soils Programme

Fertiliser Summary:

Farm	Cover Date	Last Fertiliser Date	kg of N/ha	N Area%
Alan Wood	19/08/2018			
Con Lehane	20/08/2018			
Danny Bermingham -	20/08/2018	12/08	22	42
David Brady - Tierlahood	18/08/2018			
Donal and Michael Keane	18/08/2018			
John Leahy	20/08/2018	20/08	20	63
John O'Sullivan	19/08/2018	18/08	27	98
Sean O'Riordan	20/08/2018	15/08	42	64
Tom and TJ Ryan	16/08/2018	16/08	9	54
Average	-		24	64.2

5	55
5	55

Disclaimer This application should be used in conjunction with good husbandry practice and should be used only as a guide to grassland management. The use of this application does not effect any statutory requirements. Teaga





Date Selected:	20/08/2018							
Group(s):	Teagasc Heavy Soils Programme							
	19.08 4.39	3.59	1.57	91				
	23.35 4.07	3.54	1.83	69				
	18.58 4.51	3.83	1.60	103				
	22.22 4.13	3.52	1.75	89				
	-			67				
				68				
				97				

Disclaimer This application should be used in conjunction with good husbandry practice and should be used only as a guide to grassland management. The use of this application does not effect any statutory requirements. Teaga



